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General instructions
1. The question paper comprises of siX 5¢

Question paper. All questions are compulsory: (1
2. Section A — From questions 110 10 are CQhS St Anmark each,
s
e Very S wer Type Questions, carrying 2 marks each.

3. Section B — Question no. 11 10 12 ar
Answer to each question should not excee 40 words.

4. Section C contains Q.13 t0 Q.15 are Short AnSWet Type Questions, carrying 3 marks each. Answer 10
each question should not exceed 60 words.

5. Section D — Question no. 16 to 17 2r¢ ong ansWer type questions, carrying 3 marks each. Answer t0
each question should not exceed 120 words. ]

6. Section-E - Questions no 18 is ¢a5¢ based questions with three sub questions and are of 4 marks each.

Answer to each question should not exceed 100 wo.rds.
7 Section F - Question no. 19 is map based, carrying 3 marks
tructions are given with each section an

8. Tn addition to this, separate ins

Section A - MCQs (1X20=20)
_ In which of the following states is OVergrazing responsible for land degradation?
(b) Madhya Pradesh and Rajasthan

ons — A, B, C, D
ction ,Eand F. There are 19 questions in the

d question, wherever necessary:

Pt

(a) Jharkhand and Orissa
(c) Punjab and Haryana (d) Kerala and Tamil
7. When running water cuts through clayey soils and makes deep channels, they lead to:
(a) Gully erosion (b) Sheet erosion
(d) Afforestation

(c) Deforestation
3. Two statements are given below as Assertion

and choose the appropriate option
Assertion (A) : St Lanka emerged as an independent country in 1950
Reason (R) : The leaders of the Sinhala community sought the secure dominance over

government by virtue of the majority
(a) Both A and R true and R is the correct explanation to A.
(b) Both A and R are true butR is not the correct explanation of A

(c) Alistrue but R is false
(d)A is false but R is true
4. Who elects the community government in Belgium?
(a) People belonging to one language community only (b)BY the Jeader of Belgium
(c) The citizens of the whole country (d) The community leaders to Belgium
5. What is ‘L iberalism’ stand for since the French revolution ?
(a) Freedom for the individual (b) Equality before law
(c) End of autocracy and clerical privileges (d) Freedom of markets
6. What happened when the news of the events in France reached the different cities of
Europe?
A. There was 2 turmoil in Europe
B. the people did not know how t0 react
C. students and other members of educated middle classes began setting up Jacobin

bs
Ic)lflthere was confusion and dissatisfaction in the cities
7. Which Institution publishes Human Development Report?
(a) UNDP (b) world pank  (c) IMF (d) WHO
8. While averages are useful for comparison they also hide
try can generally be determined by

9. Development of a coun
(b) Average literacy level

.\ par canita iNnCOME

(A)and Reason (R) Read the statements



(b)Health status of the e,

10. /indicatcs thg number o P TI ne year as a
proportion of 1000 live Childrc:;?”drcn that die before the age of one'y

; : orn in that particular year
(a) Gross Infant Mortality Rate ' .
i ¢ (b) Infant Mortality Rate
N infant Morilty Rate (( d)) (21?)25 Enrollm{:nt Ratio

Ple (d) All the above

Secti -
won Answer the following questions (2X2=4M)
11. Prove that development for Some

12. Resource planning is a compley
Section C — Ans

May be harm ful to others.

Process’. Explain. ’
Wer the following questions (3X3=9M)

13. Which iS. thg most widespreaq and important soil of India? Mention its important
characteristics.

14.Examine the CONSEQUENCES of iy, o nremacy
15.How was the Habsburg empire 5 patch work of many different regions and people in
Europe ?
Section D — Answer the oo wing questions (2X5=10M)

16. Analyse the measures an Practices introduced by the French revolutionaries to create
sense of collective identity among the French people?

17.Give an assessment of the power sharing arrangements made in Belgium.
Section E — Source bage Question (1X4=4M)

18.A girl expects as much freedom and opportunity as her brother, and that he also shares
in the household work. Her brother may not like this. Similarly, to get more
electricity, industrialists may want more dams. But this may submerge the land and
disrupt the lives of people who are displaced — such as tribals. They might resent this
and may prefer small check dams or tanks to irrigate their land. So, two things are
quite clear: one, different persons can have different developmental goals and two,

what may be development for one may not be development for the other. It may even
be destructive for the other.

(i) To get electricity Industrialists may want more

(a) Factories (b) Agriculture

(¢) Dams (d) Infrastructure

(ii) When land submerges it affects the life of

(a) Farmers (b) Tribals

(c) Landless people . (d) All of the above
(iii) Different people can have

(a) Same goals (b) Different Goals

( ¢) similar goals (d) None of the above

(iv) Write one development goal of landless rural labor

Section F — Map base Question (3X1=3M)
19.0n the given political map of India Identify the soils.
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pERIODIC TEST
JULY, 2024
SUBJECT: ARTIFICIAL INTELUIGENCE (Code-417
CLASS: X EYAMNIATION ) Marks: 20 M
DATE: 13-07-2024 TIME: 1 Hr

Instructions: 1. Read and Answ
2. Maintain good handwriting
3. Answer all the questions in the answer sheet gy,
4. This Paper consists of oné printed page

P S

SECTION- A

1. Identify the symbol used for Visual Communication &

(a) Under Construction (b) Railway Crossing (c) No Entry

or all the questions carefully,

I. OBJECTIVE TYPE QUESTIONS 7x1=7TM

2. You cannot park your car anywhere this building for security reasons
{a) from (b) for {c) around

3. Which of the following is not an element of communication within the communication process cycle?

(a) Time (b) Channel (c) Receiver

4. Tom is a student of grade five. He likes to move around the class. He enjoys playing basket ball and is

even good at playing a Guitar. Which of the following intelligence does he demonstrate?
(a) Linguistic (b) Kinesthetic (c) Logical-Mathematical

5. What is not Al?
(a) A self-driving car (b} A fully automatic washing machine  (c) A Humanoid

6. Statement I: In Deep Learning, the machine is trained with huge amounts of data
Statement II: Everything which is Machine Learning is also Deep Learning
(a) Both the Statements | and Il are correct
(b) Only Statement Il is correct
(<) Only Statement | is correct

7. _is the phenomenon of machine learning algorithms producing unfair or distorted results due

to hurnan biases in the data or the algorithm.

SECTION- B
Il. SHORT ANSWERS QUESTIONS 5X2=10M

1. Write about any two types of Verbal Communicatio
2. Write about Natural Language Processing (NLP) provi
3. Define the following terms a) Al Ethics  b) Al Access
4. \Write about any two applications of Artificial Intelligence around us.
5. Define the term Artificial Intelligence as given by NITI Aayog,

n by giving an example foreach.
iding two real time application examples.

111, LONG ANSWERS QUESTION 1X3=3M

1. What are the three Domains of Al and explain with an application for each?



- TEST-1 Ex el
pERIODIC '* AM

SUBJECT: SCIENQE(SE\;AEON
CLASS: X B MARKS:40
DATE:11-06-2024 TIME: | 4Hrs
SWER
lengthp, . [5x1=5M]
. " diameter ‘d’ is to be used as a

I.CHOOSE THE CORR]?JCT AI:
1. A piece of aluminium wire having
wire of minimum resistance. S0

a) 1d b)2ld d) 1/2, 2d.

2.Rahul took some zinc granules.m a test tube and added dil.HCI to it. Which
characteristics of Chemical reaction has observeq ;. the above reaction.
(i) Formation of precipitate(ii) Chfmge I temperype
(iii) Evolution of gas(iv) Nothing 1s observed

2) i&ii b)ii&iv c) i&iii d)All the above

3.Which of'the following reactions is an endothermig reaction?
(a) Burning of coal
(b) Decomposition of vegetable matter into compost
(c) Process of respiration
(d) Decomposition of calcium carbonate to form quick lime and carbon
dioxide.

4.If the structure marked X in the diagram is blocked,then which of the following
processes will not occur?

(A)Transpiration and respiration

(B) Transpiration,Photosynthesis and Respiration
(C) Respiration, Transpiration and Tranportation.
(D) Respiration and Photosynthesis.

* 5. In which of the following groups of organisms are food materials broken
down outside the body and absorbeq?

(2) Mushroqm, green plants,amoeba(b) Yeast, mushroom, bread mould

(c) Paramecium, amoeba, cuscuta(d) Cuscuta, lice, tapeworm

ASSERTION AND REASONING: [3X1=3M]

DIRECTION : The following question congist of two statements - Assertion (A)

En;i Reason (R). Answer these questions selecting the appropriate option given
elow:

(2) Both A and R are true and R i the ation of A.

(b) Both A and R are true but R jg HOtCtﬁrrect exgl::planation A

(c) A is true but R is false, M

(d) Ais false but R is trye,




6.Assertion(A):Alloys are common]y used 12, h tempe(l;the m
Reason(R): Alloys do not oxidise regdily 2 ol en
7.Assertion(A): Photosynthesis is congider® s of P
Reason(R): Energy gets released in the pro© 1af0un M
8. Assertion (A): Rings of cartilage are presene sollapse [6X2’ 12
Reason (R) : These ensure that the ajr-pass®

S g cU

11 ANSWER THE FOLLOWING Q[)ESTION . there 18 ac
9. 1) Define S.I unit of resistance. {noWn res!
ii)When a 4V battery is connected across a7 ut
of 100mA in the circuit. Calculate its resista"c;()c to flo
10. ) Calculate the time taken for a charge ©
circuit if the current through it is 200mA. e inacCo

ii)Mention the condition when charge can moY .
of the device used for this purpose. g with sjlver nitrat
11.A solution of potassium chloride when M*" ™ . 1 reacti
insoluble white substance is formed. Write the chem
mention the type of the chemical reaction? S
12.State reasons for the following: .. b pitrogen 88>
(i) Potato chips manufactures fill the packet of Chlpsdwy:/ti}tlhna reddish
(ii) Iron articles are shining when new, but get 03¢
powder, when left for some time.
13.°X” is a wild animal which eats only flesh of 0
domestic animal which feeds maily on green gass: ]
longer small intestine? Why reason. . change 0
14.How are lungs designe(}i, in human beings to maximize the area of ex &
gases?

.
hereas ‘Y 152

ther animals wl,X or Y, hasa

Which anima

IILANSWER THE FOLLOWING QUESTIONS  [4X3=12M] 4
15. i) State the law that gives the relationship between potential differencean
current flowing through it.

ii) Express the law both by a mathematical formula and by a graph.

iii) How can we calculate resistance from the graph?

iv) Draw circuit diagram to verify the law.

16. Write the balanced chemical equation for the following and identify the type of
reactionin each case.

(a)Potassium bromide (aq) + Barium iodide (aq) — Potassium iodide
Barium bromide(s)

(b) Zinc carbonate (s) — Zinc oxide (s) + Carbon dioxide (@)

(¢) Hydrogen (g) + Chiorine (¢) — Hydrogen chloride (g)

(aq) +

17. 2g of Ferroussulphate crystals are heated i 5 ¢
a) List any two observations.

b) write balanced chemical equation for the reaction
¢)Name the products formed during the chemica] rez.1 ction

ry boiling tube.

18.The diagram below shows the human j;
P,Q,R,S are four different organs that are
canal.

a)ldentify the parts Q,R.

b)Write one function of each P,Q,R,S.

mentary cana .
he parts of the




IV. Case study: _ (2X4=8M]
19'.Th € opposition offered by @ matc.n?l 10 the flow of electrons through it is called
resistance of the material. The r esistVILY of a conductor is independent of its
dimensions. Resistivity of insulator 1S &reater than that of an alloy.

1. Define resistivity and write its S.I unit, im
2. Two wires A and B of same malterial3 having 0.3mm and 0.2mm
respectively, are connected one by 0ne ina circuit. Which wire will offer

higher resistance? Justify your answer: Im
3, Resistance of a conductor of length 2m and cross — sectional area of 1mm?’is 8Q.

Calculate the specific resistance cgf the conductor. Im
4. A wire of resistivity 1.86 x 107 Q m 1s pulled to double its length. Calculate its

resistivity. Im

20.The food material taken in during the process of nutrition is used in cells to
ife processes. Diverse organisms do this in different
break-down glucose completely into carbon dioxide
and water, some use other pathways that do not involve oxygen . In all cases, the
first step is the break-down of glucose, a six-carbon molecule, into a three-carbon
molecule called pyruvate. This process takes place in the cytoplasm.

provide energy for various |
ways — some use 0xygen to

1. Listout the products obtained by anaerobic respiration in plants.
2 Name the substance which build up in the muscles during vigorous physical

exercise.
3. In which form our body uses energy?
4. Why there is a faster breathing rate of aquatic animals than in the terrestrial

animals?
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CLASS : X
MARKS - 40

DATE :08-07-24 1
] 1 )
IME : l;hrs

HOICE
L ANSWER THE FOLLOWING MULTPLE CHOE= Qstiop (101 10]

, per aand7
L If 3 is the least prime factor © 2 oo ' the leagy prime factor of number b, then the least

prime factor of (a+b) is c)5
a)2 b) 3 d) 10

2. The ratio of HCF to LCM of the least Compo)S'Ie- NUmber and least prime number is
a)1:2 b)2:1 ot d)1:3

2
3.1f @ and f3 are the zeros of the PO‘Ynomlal_x ~ L then the value of (a + f) s
2)2 b) 1 - d)o

4. If one zero of the polynomial 6x’+ 37x — (K -2)isreciprocal of the other, then what is the value of & ?
) -4 b) -6 )6 d)4

quations is consistent then their graph lines will be

5. The pair of linear ¢
b) always coincident c) always intersecting d) intersecting or coincident

a) parallel

6. The point of intersection of the line represented by 3x—y = 3 and y-axis Is given by
a) (0,-3) b) (0,3) c) (2,0) d) (-2,0)

7. If the equation 25x’ —kx + 9 = 0 has equal roots, then
a)k=+30 b)k=425 k=19 d) k=1 34

8. If the sum of the roots of the quadratic equation ko + 6x + 4k = 0 is equal to the product of its rocts,
q N

then

1 =3 2 (=
alk=- b)k=3 k=7 d)k=-
ch other if

9. The roots of the equation axt +bx + ¢ = 0 will be reciprocal of ea
d) none of these

aja=b b)b=c Jc=a

_ Assertion (A): 3x5x7+7 is a composite number
Reason (R): A Composite number has factors one jtcelf and anY other natural number.

(R)is the correct explanaticn of Assertion (A).

a) Both Assertion (A) and Reason (R) are trya Reason
b) Both Assertion(A) and Reason(R) are true but Reason(R) is not the correct cxplanation of
epu

Assertion(A).
c) Assertion (A) is true but Reason (R) s fals
e.

d) Assertion (A) is False but Reason R)isT
rue.



ILANSWER THE FOLLOWING QUESTIgp, px2=4

11. For what value of k does the syste,.. of _3,5%* ky +7=0have p, SOlutgn
®quations * *

factorization,

12. Find the roots of the quadratic eq“ation z 0by
X

+11x- 1527

I, ANSWER THE FOLLOWING QUESTI g [4%3=12)

13. If m and n are zeroes of the p°|y"°mla| . dthe values of the following Without fye
X"~ Orizin

L1 1 . _ 2, ﬁ
the polynomial i) ot ii) m2 4 W2 X

14. Solve: 2x+5y =8/3, 3x—2y=5/g

15. Find two consecutive positive intege whe o5 have the sum 85.
Se squal®

yar
16. Find HCF and LCM of 396, 1080 anq Verfy g x LCM = produCt of given numbers,

IV. ANSWER THE FOLLOWING QUESTIQNS . [2X5= 10]

17. Find a fraction which becomes G) When 1 g g ptracted from the nUMerator and 2 is addeq ot

denominator and the fraction becomeg ( ) 7is subtracted from the numerator ang 7

1
3 when
subtracted from the denominator,

18. Prove V2 is irrational. Also prove 5 + 3 VZ s irrational.
V. CASE- STUDY BASED QUESTION: [1X4=4)
19. The below pictures are few naturaj examples of parabolic shape which is represented by a quadratic

polynomiat. A parabolic arch is an arch in the shape of a parabola. In structures, their curve represents
an efficient method of load, and so can be foynd in bridges and in architecture in a variety of forms,

Based on the above information, answer the following questions .

i)if & and = are the zeroes of the quadratic polynomial 2x2- x + 8k, then find the value of k.
a
L -1 .
ii) If the sum of roots is — p and product of roots is — then find the quadratic polynomial.

. = 2
iii) Write the zeroes of the p'-"lym’m'al plxX)=4x*~ g 4 1.
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General Instructions: 'F gections < R .
(1)The Question Paper contains THREE 5¢ Rcadm& Grammar & Writing
and Literature. . i
(2)Attempt questions based on specific TS for each par
READING (10 Marks

1. Read the passage given below.

1. “Teenagers? Stress? You must be joking. , This ig probably the reaction when asked
whether teenagers get set full and apprehensive. For, it is generally believed that they
have “no responsibilities no worries and n duties”. But that is not true.

2. In today’s competitive world, one needs (0 struggle and fight to make it in this
dynamic, yet uncertain environment that is both stressful and anxiety inducing.

The pressure to perform that is to do well academically comes principally from parents.
teachers and peers.

3. The lack of aptitude tests or respecting the students’ preferences push them into
fields which do not interest them or for which they are not equipped. Apart from the
pressure to perform well, they are often burdened with the pressure to conform to the
norms laid down by society. Next, teenagers are pressurized to reform themselves. This
is commonly experienced especially by students in the age group of 13 to 17 years.
Everybody is telling them when to wake up and what to do. Here’s what you can do to
deal with these pressures. As a result of pressure, teenagers are often found to be very
anxious. A sign of anxiety is holding one’s breath. The easy way out to take deep
breaths at regular intervals, trying to calm your mind.

4. Modern life’s competitiveness and challenges put a tremendous load of work on
teenagers. They need to understand that they are strong enough to handle the tough
challenges in life, studying and assignments being two of them. Procrastinators that is
people who habitually delay and postpone due to their work, need to cultivate, “the art of
starting;” and this involves dealing with the minor discomfort experienced while
beginning a task. Once a job has started, it is much easier to continue.

5. Some students worry about factors like social and financial status, intelligence and
habits that might make them different from their peers. Effective stress management lies
in having a healthy attitude towards competition, work, friends and acquaintances. It lies
in taking life as it comes, doing your best and being prepared for the worst.

On the basis of your reading of the above passage, answer the following questions by
choosing the most appropriate answer. (10x1=10)
i. What kind of pressures are faced by teenagers?
a) pressure to do well academically.
b) present to confirm to the norms laid down by the society.
¢) pressure to reform themselves.
d) all of the above.



fo
the 5eS
ii. Choose the option that lists the correct answe”® fcl)ll' g <
1. Ajay is 13 years old boy who is taking up ® ’ 4 has frequent
persuade the cooking career. pooks an
2. Rajan is 15 years old boy who is always int®
breakdowns.

a) both are under stress of competition
b) both Ajay and Raja are devoid of stresS
¢) Ranjit he stressed while Ajay is enjoying ‘ls jife-

d) Ajay is stressed while Rajan is enjoying s'alderlt
or
. fworty . - 5ence
iii. Which of the following factors become sources o 3. lntel!lges i
1. social status 2. actual status 6. relat! ot
4. habit 5. Career

(a)1and5 (b)2,4and6 (¢34 (d

iv. Who are ‘procrastinators’?
a) people who do their work on time . e
b) people who did who do their work before tum
¢) people who never do their work . .. work.
d) people who have actually postpon® during thelr W
v. The word ‘truthful’ in the passage means ) d) Dull
a) Excited b) Feeling Joy c) Feeling distressed )
vi. The word ‘anxiety’ in para 2 means
a) Being calm b) A troub
¢) Behaving properly  d) Being serious
vii. In the line «....fretful and apprehensive”, apprehensive does not

correspond with . ) Uneas
a) Anxious b) Understanding c) Fidgety ) Uneasy

Jed state of mind

viii. The pressures faced by the teenagers come from
a)Teachers b) Friends c) Parents d) All the above

tudents into field that does not suit them?
b) Lack of career counselling
d)The need to follow a stable career

ix. Why does parents push s
a) The desire for easy success

¢) Lack of aptitude tests

«. The author of the given passage istryingto_______ the students.
a) Amuse b) Encourage ¢)Inform  d) Scare

SECTION -B GRAMMAR & CREATIVE WRITING SKILLS
Writing (5 Marks)

2. There is a garbage bin near your scho'ol gate. Most of the time it is overflowin

During the rainy season it stinks and invites a lot of flies. All this affects the g
healthy atmosphere of the school. Ime}glne that you are Rohit/Raeini. the Princinal
of Sunflower School, Mayur Vihar, AQ.TC'L - Write a letter in g100’-12 0 V:lllzlpa 1
Municipal Commissioner, Agra Municipal Corporation Sneiing b Of s, to the
regular cleaning or to get the bin removed to some other place g him either to ensure
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3 Fillin th .
¢ bla"ks With suitable OPUO" t
(ﬂ) Karin O]]S! l ——— hﬂVC cost a fnr[“nc

(5‘]:5)

a's c . .
NRagement ring is €1°

(iif) ca”
. read the review.

(1v) must (v) none of thege

(i , .
) may (1) might

pefor
0 pad watched  iv) was watching

(b) Rohan

~ the movic

1) Watcheg i1) have watched
ired
() A bouquet of flow et e
Crs —
‘ — iv)is
1) are i) have ii) has
owin :
(d) Choose the correct option 10 report the foll g sentence:
ket now”’
Rama said to Mohit “Don’ 89 . mark '
o market then,
arket then.
arket then,

then.

i. Rama asked Mohit that don't g0
ii. Rama asked Mohit not to go 0 ™"
iii. Mohit asked Rama to not g0 10 m
iv. Rama asked Mohit to go t0 market

(¢) Read the given sentence from a recipe review article. Identify the error and supply the

correction in the sentence.

This delightful recipe must keep your hunger pangs at bay with its balanced spices and

oriental flavour.

Use the given format for your response.

error correction

LITERATURE - 20 MARKS

4. Read the extract given below and answer the questions that follow. (3x1=3)

“And did you cut down on the sweet things as | told you?
Oh 1did for a bit, but he seemed 10 be 5o weak had to relent. He does love cream cakes
and chocolates so I can't bear 1o refuse him, [ Jooked down again at the little dog. That

was the trouble. Tricky's only fault was greed

I. Tricky falls ill because
2. How would you describe the vet?
3. What is the meaning of the word ‘re|en*»

5. Read the extract given below and answer the questions that follow. (3x1=3)
cq
Some say the world will end in fire,

Some say in ice.
From what I 've tasted of desire

[ hold with those who favor fire.



I think I know enough of hate

To say that for destruction ice [ also g,
And would suffice. eat

But if it had to perish twice, Lf

1. What is the symbolism used in the Poem
2. The poemis a '

— . putacrogsy L.
: Yy the poe
a) powerful warning b) heart-felt apglogy
¢) earnest appeal

d) vengefu] threat
3. Identify the most likely tone of the Poet in thz lines-

To say that for destruction ice/Is alg, great’

a) sarcastic b) serious ¢) amused d) celebratory

- Answer any three questions out of foyy in 40-50 words.

I. What did Nelson Mandela pledge when he was sworn in as President?

2. Explain why the Tiger ignores the visitors at the zoo?

3. What do you think prompted the narrator to act like “an obedient child™? (The Black
Aeroplane)

4. What is a ‘bearhug’ is? How is it used in the poem?

(3X3=9)

7. Answer any one out of two questions [100-120 words] (1x5=5)

Hari Singh didn’t board the express and returned to Ani, Why did he return? On what
values does this incident put light on?

Or

Bring out Lencho’s immense faith in God.

———
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